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Answer any FIVE FULL Questions MA CO RBT
RKS

1(a) A modulating signal given by m(t) = 2 sin(10007 t) amplitude modulates a carrier given [10] col 13

by ¢ (¢) = 10 sin(2mr 106° t) with a modulation index of 0.5. Find:
a) Frequencies present in the modulated signal,
b) Amplitude of each side band.
c¢) Bandwidth required.
d) Total transmitted power before and after modulation
e) Sketch the spectrum
2 (a) Whatis FDM? With a neat block diagram, explain FDM. [5] col 14

(b) Explain the operation of a mixer with a neat block diagram [5] col 14

3 (a) Explain the operation of coherent detection of DSBSC modulating wave along with costas  [10] €02 L4
loop circuit.
4 (a) What is VSB modulation? Explain the characteristics of a VSB filter. [10] «col L4

5(a) Explain the operation of the switching modulator with circuit diagram, and waveform. [6] Co2 14

(b) Describe the operation of envelope detector with neat diagrams and waveforms. Bring out  [4] Co2 L1
the significance of RC time constant of the circuit in detection of message signal without
distortion
6(a) Discuss briefly the operation of the ring modulator with circuit diagram and relevant [5] Co2 L2
waveforms.
(b) A carrier signal c (t) = 10 cos(2mw10° t) is modulated by a message signal m(t) = 2 cos(8m 103 [5] Col L3

t) to generate a DSB SC signal. Sketch the spectrum and calculate the bandwidth, power
and modulation efficiency.
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